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1. EnviroCorp is a dynamic, rapidly growing co-generation power company.  It is considering multiple options for expansion or restructuring.  However, the company wants to know what impact these changes will have on its base year emissions, as it works toward achieving a corporate GHG reduction target.  Indicate whether each change in EnviroCorp’s operations would necessitate a recalculation of its base year emissions.  Mention any assumptions on which your answer depends.
	Changes to EnviroCorp’s Operations
	Is a base year recalculation needed?
Why or why not?

	EnviroCorp merges with neighboring SecondGen Renewable Energy Company
	

	Heat is no longer produced on-site; it is outsourced to a third party.
	

	Seven facilities are sold to MonoPower, a large power conglomerate
	

	Continuous Emissions Monitoring Systems (CEMS) are installed in all of EnviroCorp’s facilities and the company undergoes rigorous research and testing to determine site-specific emissions factors.
	

	EnviroCorp changes its production mix of electricity and heat from 70% electricity-30% heat to 65% electricity-35% heat.
	

	The company acquires a brand new production facility.
	


2. A company has the following information available relating to its Scope 1, 2 and 3 emissions:
	2005
	2006
	2007
	2008

	Scope 1
	
	Scope 1
	4000
	Scope 1
	4500
	Scope 1
	5000

	Scope 2
	7000
	Scope 2
	8000
	Scope 2
	8000
	Scope 2
	9000

	Scope 3
	
	Scope 3
	
	Scope 3
	
	Scope 3
	9000


Which year should it select as its base year and why?
3.  Answer the questions below based on the following scenario:
· G is a medium-sized bank.

· H is a small bank.

· In year 3 G acquired H.

· Base year, year 2 and year 3 emissions are given for both banks below.
	Bank G

	Base year
	Year 2
	Year 3

(G acquires H)

	10,000
	10,000
	13,000


	Bank H

	Base year
	Year 2
	Year 3

(acquired by G)

	3000
	3000
	n/a


Should G’s base year emissions be recalculated?
If so, what would G’s recalculated base year emissions be?

4.  Answer the questions below based on the following scenario:

· J is a car factory.

· K is a tire factory.
· In the base year and year 2, J manufactured its own tires.

· In year 3, J outsourced production of its cars’ tires to company K.

· Scope 1 emissions from the base year, year 2 and year 3 are given for both manufacturing companies below.

	Car factory J

SCOPE 1 Emissions

	Base year

(J produces tires in-house)
	Year 2

(J produces tires in-house)
	Year 3

(J outsources tire production to K)

	Body parts
	20.000
	Body parts
	20.000
	Body Parts
	20.000

	Tires
	4.000
	Tires
	5.000
	Tires
	0.0


	Tire factory K

SCOPE 1 Emissions

	Base year
	Year 2
	Year 3

(J outsources tire production to K)

	Tires

(manufactured for J)
	0.0
	Tires
(manufactured for J)
	0.0
	Tires

(manufactured for J)
	5.000


Should J’s base year emissions be recalculated?

If so, what would J’s recalculated base year emissions be?

5.  Answer the questions below based on the following scenario:

· M is a paper company.
· There is increased demand for paper, so M opens up a new paper plant in year 3.

· Base year, year 2 and year 3 emissions are given for M below.

	Paper company M

	Base year
	Year 2
	Year 3

(M opens a new paper plant)

	4.000
	5.000
	13.000


Should M’s base year emissions be recalculated?

If so, what would M’s recalculated base year emissions be?

6. Answer the question below based on the following scenario:

· Company P originally calculated the following emissions for its base year, year 2 and year 3:
	Company P


	Base year
	Year 2
	Year 3



	100.000
	105.000
	103.000


· A review of the company’s emissions data revealed calculation errors.

· Company P corrected for these errors and reported the following correct emissions: 

	Company P
(corrected emissions)

	Base year
	Year 2
	Year 3



	101.000
	103.000
	102.000


Assuming Company P has set a 5% significance threshold, should its base year emissions be recalculated?

7. Answer the question below based on the following scenario:

· Company S originally calculated the following emissions for its base year, year 2 and year 3:

	Company S



	Base year
	Year 2
	Year 3



	250.000
	275.000
	300.000


· A review of the company’s emissions data revealed that when calculating its emissions, Company S had mistakenly used an emission factor for Clean Development Mechanism projects instead of the emission factor for corporate inventories.  
· Company P corrected for these errors and reported the following correct emissions: 
	Company S

(corrected emissions)

	Base year
	Year 2
	Year 3



	75.000
	80.000
	83.000


Assuming Company S has set a 5% significance threshold, should its base year emissions be recalculated?
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